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Question Number : 401 Question Id : 226895703518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5§ Wrong Marks : 1

Darwin's ‘Theory of Natural Selection’ is mainly based on the following points -

{A) All organisms show a tendency to increase numbers by producing a greater number of off-spring that can survive
and reproduce

(B) The generations continue to modify for adaptation, thereby gradually bringing changes in the species in the future
(C) The individuals exhibit similarities in their physiological, structural and behavioral traits to bring identical structures
(D) The number of individuals in a given species remains more or less constant

Choose the correct answer from the options given below:

1. (A), (B} and (D) only
2. (A), (B) and (C) only
3. (A), (B}, (C) and (D)

4. (B), (C) and (D) only

Options :

2268952727698. 1
2268952727699. 2
2268952727700. 3
2268952727701. 4

Question Number : 401 Question Id : 226895703518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727698. 1
2268952727699. 2
2268952727700. 3
2268952727701. 4

Question Number : 402 Question Id : 226895703519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Identify the correct sequence of the major course of Hominid evolution as recognized -
(A) Homo erectus
(B) Australopithecus
(C) Homo sapiens
(D) Homo neanderthalensis

Choose the correct answer from the options given below:

Options :

2268952727702. 1
2268952727703. 2
2268952727704. 3
2268952727705. 4

Question Number : 402 Question Id : 226895703519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952727702. 1
2268952727703. 2
2268952727704. 3
2268952727705. 4

Question Number : 403 Question Id : 226895703520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Identify the correct sequence of the vertebrae types in the vertebral column in humans (from top to bottom)
{A) Thoracic
(B) Cervical
(C) Sacral

(D) Lumbar

Choose the correct answer from the options given below:

Options :

2268952727706. 1
2268952727707.2
2268952727708. 3
2268952727709. 4

Question Number : 403 Question Id : 226895703520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952727706. 1
2268952727707. 2
2268952727708. 3
2268952727709. 4

Question Number : 404 Question Id : 226895703521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The Cri-du-chat syndrome, a chromosomal aberration occurs in humans due to

1. Duplication
2. Inversion

3. Deletion

4, Translocation

Options :

2268952727710. 1
2268952727711. 2
2268952727712.3
2268952727713. 4

Question Number : 404 Question Id : 226895703521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727710. 1
2268952727711. 2
2268952727712. 3
2268952727713. 4

Question Number : 405 Question Id : 226895703522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The hereditary disease called "sickle cell anemia” occurs in the human population due to

1. Natural Selection

2. Mutation

3. Numerical Chromosomal Aberration
4. Genetic Drift

Options :

2268952727714. 1
2268952727715.2
2268952727716. 3
2268952727717. 4

Question Number : 405 Question Id : 226895703522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727714. 1
2268952727715.2
2268952727716. 3
2268952727717. 4

Question Number : 406 Question Id : 226895703523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-1I

Blood group system/type

Discoverer/ characteristic

(A) AB Blood Type

(1) Landsteiner and Levine

(B) Rh Blood Group System

(1} Universal donor

(C) MN Blood Group System

(1) Universal Recipients

(D) © Blood Type

(V) Landsteiner and Weiner

Choose the correct answer from the options given below:

1.(A) - (), (B) - (1. (C) - (1), (D) - (V)

2.(A) - (), (B) - (), (©) - (), (D) - (V)

3. (A) - (1), (B) - (), () - (IV), (D) - (1)

4. (A) - (), (B) - (V). (C) - (1), (D) - (IN)
Options :

2268952727718. 1
2268952727719. 2
2268952727720. 3
2268952727721. 4




Question Number : 406 Question Id : 226895703523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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3. (A)-(1). (B)-(1N). (C)-(1V). (D)-(111y
4. (A)-(11), (B)-(1v), (C)-(1), (D)-(1)

Options :

2268952727718. 1
2268952727719. 2
2268952727720. 3
2268952727721. 4

Question Number : 407 Question Id : 226895703524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The phase is characterized by the wide occurrence of metal-smelting trait in an industry.

1. Neolithic
2. Mesolithic
3. Chalcglithic
4. Palaeolithic

Options :

2268952727722. 1
2268952727723.2
2268952727724.3
2268952727725. 4

Question Number : 407 Question Id : 226895703524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727722. 1
2268952727723.2
2268952727724.3
2268952727725 4



Question Number : 408 Question Id : 226895703525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

is a branch of anthropology that was engaged in studying the origin, nature, meaning and
development of language and also describing and classifying languages into families and subfamilies on the basis of
their similarities and dissimilarities.

1. Bio-cultural Anthropology

2. Socio-Cultural Anthropology
3. Linguistic Anthropology

4. Archaeological Anthropology

Options :

2268952727726. 1
2268952727727.2
2268952727728. 3
2268952727729. 4

Question Number : 408 Question Id : 226895703525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727726. 1
2268952727727.2
2268952727728. 3
2268952727729. 4

Question Number : 409 Question Id : 226895703526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The concept 'Survival of the Fittest’ was proposed in which theory of Human Evolution?

1. Darwinism

2. Lamarckism

3. Neo-Darwinism
4. Neo-Lamarckism

Options :

2268952727730. 1
2268952727731.2
2268952727732. 3
2268952727733. 4

Question Number : 409 Question Id : 226895703526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727730. 1
2268952727731.2
2268952727732. 3
2268952727733 4

Question Number : 410 Question 1d : 226895703527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

List-1 List-11

Book Author

(A) Origin of species (1) Lamarck

(B) Philosophie Zoologigue (11} Watson

(C) The Mutation Theory (1) Darwin

(D) DNA: The Secret of Life (IV) Hugo- de-Vries

Choose the correct answer from the options given below:

1. (A
2.(A
3. (A
4. (A

= (1, (8) - (0. (€) - (V). (D) - ()
= (. (B) - (). (C) - (), (D) - (V)
= (. (B) - (). (C) - (V). (D) - (1)
= (1, (B) - (V). (C) - (1), (D) - ()
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Options :

2268952727734. 1
2268952727735.2
2268952727736. 3
2268952727737 4

Question Number : 410 Question Id : 226895703527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(), (B)-(1. (©)-(V). (D)-(11)

2. (A)-(1), (B)-(11), (Cy-(1), (D)-(1IV)

3. (A)-(1), (B)-(1), (C)-(1V), (D)-(11)

4. (A)-(11), (B}-(1v), (Q)-(1). (D)-(1)

Options :

2268952727734. 1
2268952727735.2
2268952727736. 3
2268952727737. 4

Question Number : 411 Question Id : 226895703528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Humans physical variations have been classified differently by different anthropologists. The major categories of
human races are

{(A) Caucasoid

(B) Australoid

(C) Negroid

(D) Mongoloid

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A) and (B) only

3. (A), (B) and (C) only
4. (A), (C) and (D) only

Options :

2268952727738. 1
2268952727739. 2
2268952727740. 3
2268952727741. 4

Question Number : 411 Question Id : 226895703528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727738. 1
2268952727739. 2
2268952727740. 3
2268952727741. 4

Question Number : 412 Question Id : 226895703529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Choose the increasing sequence for the DNA packaging in cell
(A) DNA
(B) Chromosome
{C) Chromatin

(D) Nucleosome

Choose the correct answer from the options given below:

Options :

2268952727742. 1
2268952727743.2
2268952727744.3
2268952727745. 4

Question Number : 412 Question Id : 226895703529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727742. 1
2268952727743.2
2268952727744. 3
2268952727745 4

Question Number : 413 Question Id : 226895703530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

When the pollen from a yellow seeded pea plant was transferred to a green seeded pea plant, Mendel's observation
was:

1. All of the first-generation offspring bore yellow peas
2. All of the first-generation offspring bore green peas
3. Half of the first-generation offspring bore yellow peas
4. Half of the first-generation offspring bore green peas

Options :

2268952727746. 1
2268952727747.2
2268952727748. 3
2268952727749. 4

Question Number : 413 Question Id : 226895703530 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727746. 1
2268952727747.2
2268952727748. 3
2268952727749. 4

Question Number : 414 Question Id : 226895703531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

Various random processes that affect gene frequencies in a small, relatively isolated population by chance are termed
as

1. Genetic Flow
2. Mutation

3. Genetic Drift
4. Recombination

Options :

2268952727750. 1
2268952727751.2
2268952727752. 3
2268952727753. 4

Question Number : 414 Question Id : 226895703531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727750. 1
2268952727751.2
2268952727752. 3
2268952727753. 4

Question Number : 415 Question Id : 226895703532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The haemolytic disease of the foetus known as erythroblastosis foetalis is caused by the :

1. ABO Incompatibility

2. Rh Incompatibility

3. MNS Incompatibility

4. Bombay blood group Incompatibility

Options :

2268952727754. 1
2268952727755.2
2268952727756. 3
2268952727757. 4

Question Number : 415 Question Id : 226895703532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727754. 1
2268952727755.2
2268952727756. 3
2268952727757. 4

Question Number : 416 Question Id : 226895703533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The Neolithic Culture in India is characterized by

1. Polished and ground stone axes
2. Stonehenge and sun worship

3. Increasing use of blunt scrapers
4. Use of writing and poetry

Options :

2268952727758. 1
2268952727759. 2
2268952727760. 3
2268952727761. 4

Question Number : 416 Question Id : 226895703533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727758. 1
2268952727759. 2
2268952727760. 3
2268952727761. 4

Question Number : 417 Question Id : 226895703534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Handaxe is a type of lower paleolithic tool which can be classified as -

1. Flake Tool
2. Core Tool
3. Iron Tool
4, Blade Tool

Options :



2268952727762 1
2268952727763. 2
2268952727764. 3
2268952727765. 4

Question Number : 417 Question Id : 226895703534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952727762. 1
2268952727763.2
2268952727764. 3
2268952727765. 4

Question Number : 418 Question Id : 226895703535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

The Bronze Age signifies the advancement of metallic technology and smelting. Bronze is an alloy of:

1. Copper and Iren
2. Iron and Tin

3. Copper and Tin

4. Stone and Copper

Options :

2268952727766. 1
2268952727767.2
2268952727768. 3
2268952727769. 4

Question Number : 418 Question Id : 226895703535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727766. 1
2268952727767.2
2268952727768. 3
2268952727769. 4

Question Number : 419 Question Id : 226895703536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the following stone tool cultures in the chronological order from oldest to newest
{A) Abbevillian

(B) Mousterian

(C) Kitchen Midden

(D) Aurignacian

Choose the correct answer from the options given below:
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Options :

2268952727770. 1
2268952727771.2
2268952727772 3
2268952727773. 4

Question Number : 419 Question Id : 226895703536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727770. 1
2268952727771.2
2268952727772.3
2268952727773. 4

Question Number : 420 Question Id : 226895703537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following are absolute radioactive isotope dating methods?
(A) Radiocarbon Dating

(B) Potassium/ Argon Dating

{C) Thermoluminescence

(D) Fluorine Dating

Choose the correct answer from the options given below:

1. (A), (B) and (C) only
2. (A), (B) and (D) only
3. (A), (C) and (D) only
4. (B), (C) and (D) only

Options :

2268952727774. 1
2268952727775.2
2268952727776. 3
2268952727777. 4

Question Number : 420 Question Id : 226895703537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727774. 1
2268952727775.2
2268952727776. 3
2268952727777. 4

Question Number : 421 Question Id : 226895703538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Match List-1 with List-11

List-1

List-11

Archaeological Site

Lithic Age in India

(A) Soan Valley

(1) Upper Palaeolithic

(B) Bhimbetka

(1) Mesaolithic

(C) Sarai Nahar Rai

(1ll} Lower Palaeolithic

(D) Daojali Hading

(IV) Neoclithic

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (©) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (©) - (), (D) - (1V)
3. (A) - (1), (B) - (10, (©) - (V). (D) - ()
4. (A) - (1), (B) - (V). (CQ) - (D), (D) - (1)

Options :

2268952727778. 1
2268952727779.2
2268952727780. 3
2268952727781. 4

Question Number : 421 Question Id : 226895703538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 &1 GaI-11 & a1y fHaH &3

-1 -1

WS wUd YR ¥ UraTor

(A) I 9T (1) ST QTN BT
(8) Himsc®! (1) FELUTETO) ST

(C) I AR ™ (1) e gRumm e
(D) GI3ITel BIFET (1V/) TIUTHTOT BT

i feu 71 fodeaf § 9 Wl S| 44|

1. (A)-(. (B)-(1). (©)-(1, (D)-(1V)
2. (A)=(1), (B)-(1), (9-(1D), {D)-(IV)
3. (A)-(), (B)-(1), (C)-(v), (D)-(1)
4. (A)-(1), (B)-(V), (Q)-(1), (O)-(I1)

Options :

2268952727778. 1
2268952727779. 2
2268952727780. 3
2268952727781. 4

Question Number : 422 Question Id : 226895703539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



An example site of the Indus Valley Civilization in present day India is

1. Mohenjodaro
2. Harappa

3. Lothal

4. Ahar

Options :

2268952727782 1
2268952727783.2
2268952727784. 3
2268952727785. 4

Question Number : 422 Question Id : 226895703539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

oA HRA # Y 918 T &1 U6 3aex0 A § -

1. HigAdlgs!
2. 88Ul
3. TYd
4. 3elg

Options :

2268952727782 1
2268952727783. 2
2268952727784. 3
2268952727785. 4

Question Number : 423 Question Id : 226895703540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

An example of the relative dating method is

1. Radiocarbon Dating
2. Fission-track dating
3. K-Ar Dating
4. Stratigraphy

Options :

2268952727786. 1
2268952727787.2
2268952727788. 3
2268952727789. 4

Question Number : 423 Question Id : 226895703540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

e srefiRor fafy &1 06 I

1. AsgimE SraquRm
2. frRF-¢a SR
3. K-Ar SIGHYR0
4. WRd A fagm

Options :
2268952727786. 1



2268952727787.2
2268952727788. 3
2268952727789. 4

Question Number : 424 Question Id : 226895703541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The practice where one woman is married to more than one man at the same time is called

1. Polygyny
2. Sororal polygyny

3. Polyandry
4, Group Marriage

Options :

2268952727790. 1
2268952727791. 2
2268952727792. 3
2268952727793. 4

Question Number : 424 Question Id : 226895703541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

To Afgll R Ud 8 990 § Uo § Hfte Ioul 9 fadig & 31 0T &1 $gl oIl &-

1. 9gUld faarg
2. 4 9gula faar
3. 9gufd faare
4. Tffe® faare

Options :

2268952727790. 1
2268952727791. 2
2268952727792. 3
2268952727793. 4

Question Number : 425 Question Id : 226895703542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
The person who judges other cultures solely in terms of his or her own culture is called

1. Relativist

2. Ethnocentric
3. Eccentric

4. Imperialist

Options :

2268952727794. 1
2268952727795. 2
2268952727796. 3
2268952727797. 4

Question Number : 425 Question Id : 226895703542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



ot Afe S Tl B Baa U1 IRPIY & SMYR W STl 8, I8 Hel ol & -

1. GTU&EarG!
2. 9 dfad
3. 3ahgl

4. gryrsaaral

Options :

2268952727794. 1
2268952727795.2
2268952727796. 3
2268952727797. 4

Question Number : 426 Question Id : 226895703543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
A religious system of belief in the soul is called

1. Animatism

2. Animation

3. Animism

4. Shamanism

Options :

2268952727798. 1
2268952727799. 2
2268952727800. 3
2268952727801. 4

Question Number : 426 Question Id : 226895703543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

e ¥ 3y &) ue oifitfe yond & @gl o © -

1. SidreEarg
2. Hoiladl
3. Silgarg
4. AT o

Options :

2268952727798. 1
2268952727799. 2
2268952727800. 3
2268952727801. 4

Question Number : 427 Question 1d : 226895703544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The process by which cultural elements are borrowed from another society and incorporated into the culture of the
recipient group is called

1. Emigration
2. Diffusion

3. Degeneration
4. Innovation



Options :

2268952727802 1
2268952727803. 2
2268952727804. 3
2268952727805. 4

Question Number : 427 Question 1d : 226895703544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

9 UishaT fordds gR1 SRPIas Tl & g8l F57 I YR o1 97l § 3R o a1dd T4 &1 9pia | e fear ol g,
SU DRI & -

1. 3did
2. UHR
3.4a+
4. FddR

Options :

2268952727802. 1
2268952727803. 2
2268952727804. 3
2268952727805. 4

Question Number : 428 Question Id : 226895703545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is associated with the practice of shamanism?

1. Magico-religious practices and healing
2. Community feast for ancestors

3. Nomadic pastoralism

4. Potlatch and redistribution

Options :

2268952727806. 1
2268952727807. 2
2268952727808. 3
2268952727809. 4

Question Number : 428 Question Id : 226895703545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

FrafRad & ¥ @ 9 IFHaE 3 991 51 87

1. TGR-HTf® WY 3R 3TaR
2. qdeil & foE Ureerie v
ERRCIBIEHR] tliftlﬁnldiﬁ

4, Oee AR FA@R

Options :

2268952727806. 1
2268952727807.2
2268952727808. 3
2268952727809. 4



Question Number : 429 Question Id : 226895703546 Question Type

Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Match List-1 with List-11

: MCQ Option Shuffling : No Display Question Number : Yes Is

List-1 List-11
Concept Characteristic
(A) Nuclear Family (1) Husbands are Brothers

(B) Matrilineal Descent (II) Mates and their Children

(C) Fraternal Polyandry (lll) Married couple and their married children

(D) Extended Family (IV) Children belong to the kin group of mothers

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (11), (C) - (1), (D) - (1)
2. (A) - (1, (8) - (1), (€} - (), (D) - (IV)
3. (A) - (1), (B) - (V). (Q) - (1), (D) - (1)
4. (A) - (1), (B) - (M), (O - (0, (B) - (I

Options :

2268952727810. 1
2268952727811. 2
2268952727812. 3
2268952727813. 4

Question Number : 429 Question Id : 226895703546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : S Wrong Marks : 1

-1 BT GI-11 & Gy e &3

-1 -1

SHTYRT [ERG

() Thd URAR UGG

(B) HIgaRi =1 () ST 3R 99 5=

(C) YT Fgufda () faared wifs 9k 399 fAafed 5=
(D) faaTiea ufar (V) S=d ATl & IR THE P Bld &
i e 7 fawedt © O wet S| |

1. (A-(1, BY-(1). (©-(V). (D)-(11D)
2. (A)=(11). (B)-() (Q)-(HD), (B)-(IV)
3. (A)-(10, (B)-(1V), (Q)-(1). (D)-(1l)
4. (A)=(1m), (B)-(V), (Q)-(1), (D)-(I)

Options :

2268952727810. 1
2268952727811. 2
2268952727812. 3
2268952727813. 4

Question Number : 430 Question Id : 226895703547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : S Wrong Marks : 1



Which of the following processes are associated with cultural change?
{A) Assimilation

(B) Enculturation

(C) Diffusion

(D) Revolution

Choose the correct answer from the options given below:

T.(A)(

2. (A), () and (D) only
3. (B), (C) and (D) only
4. (A), (B) and (C) only

B) and (D) only

Options :

2268952727814. 1
2268952727815.2
2268952727816. 3
2268952727817. 4

Question Number : 430 Question Id : 226895703547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Fofafed & 9 oF 9 uiva vielie tRadT ¥ i g 2
(&) SITEHTR 0T

(B) TP

(C) WER

(D) Bifd

e few e fawedt & O wét S |

1. 9ad (A), (B) IR (D)
2.%ad (A), (C) 3R (D)
(
(

e e

3. ®ad (B), (C) 3R (D)
4.%ad (A), (B) IR (O)

—

Options :

2268952727814. 1
2268952727815.2
2268952727816. 3
2268952727817. 4

Question Number : 431 Question Id : 226895703548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the following kin groups in increasing order from simplest to complex type:
(&) Clan
(B) Lineage
(C) Family
(D) Tribe
Choose the correct answer from the options given below:
1.(A)
2. (A),

3.(C
4.(C

(B). (
Q. {B
2 A

) (B
Options :
2268952727818. 1
2268952727819. 2
2268952727820. 3

2268952727821. 4

Question Number : 431 Question Id : 226895703548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Fgffad gey Ta! & Y94 Wa Y 9ied UaR dd ded $HH H gaiyd o
(A) T

(B) 9

(C) giar

(D) SISl

4 few U fadedl & © |El SR 3|

Options :

2268952727818. 1
2268952727819.2
2268952727820. 3
2268952727821. 4

Question Number : 432 Question 1d : 226895703549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Match List-1 with List-11

List-1 List-11

Concept Proposed by

(A) Animism () R R Marett

(B) Animatism (1) Emile Durkhiem
{C) Naturalism (Il) E B Tylor

(D) Totemism (IV) Max Muller

Choose the correct answer from the options given below:

1.(A) - (I, (B) - (1), (C) - (1), (D) - (V)
2. (A) - (1), (B) - () (C) - (1), (D) - (IV)
3. (A) - (1, (BY - () (©) - (V). (D) - (1)
4. (A) - (1), (B) - (V), (CQ) - (1), (D) - (I

Options :

2268952727822. 1
2268952727823.2
2268952727824. 3
2268952727825. 4

Question Number : 432 Question Id : 226895703549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 &1 GI-11 & Gy A &3

-1 -
YR Al

() Sffgarg () 3R IR AN
(B) SaTEaR (1) 3AET gEH
(C) UPpladrg (1) 3 &t TR
(D) ElcHdTG (V) T eR
i e 7 famedt © O wet S| |

T (A)-(1, (BY-(1). (©)-(), (D)-(1V)
2. (A)=(11). (B)-(0. (Q)-(HD), (D)-(IV)
3. (A=), (B)-(D, (Q)-(V), (D)-(1)
4. (A)-(1), (B)-(V), (Q)-(1), (D)-(I1)

Options :

2268952727822 1
2268952727823.2
2268952727824. 3
2268952727825 4

Question Number : 433 Question Id : 226895703550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The subsistence economy of hunting and gathering is found among

1. Jarwa

2. Toda

3. Gujjar

4. Bakarwal

Options :

2268952727826. 1
2268952727827.2
2268952727828.3
2268952727829. 4

Question Number : 433 Question Id : 226895703550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

IHR 3R TUe & @1 (e srlagamn __ H Ui ki 8|

1. SRl
2.3081
3.76R

4. g idid

Options :

2268952727826. 1
2268952727827.2
2268952727828. 3
2268952727829. 4

Question Number : 434 Question Id : 226895703551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Three types of political systems found among traditional societies are

1. Band, Tribe and Chiefdom
2. Band, Tribe and Clan

3. Band, Tribe and Commune
4. Band, Tribe and Culture

Options :

2268952727830. 1
2268952727831.2
2268952727832.3
2268952727833. 4

Question Number : 434 Question Id : 226895703551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
TRUNE T H o UBR @1 Aol oaael gl ol & -

1. d5(Ga), ST AR R
2. d8(@d), S SR M3

3. d5(@q), S SR 99e™
4, 45 (GT), TS AR TPl

Options :



2268952727830. 1
2268952727831.2
2268952727832. 3
2268952727833. 4

Question Number : 435 Question Id : 226895703552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Societies have different mechanisms for dispute resolution to maintain social control. Which of the following are
methods of peaceful dispute resolutions?

(&) Oath and ordeal

(B) Mediation

{C) Ritual reconciliation

(D) Feuding and Raiding

Choose the correct answer from the options given below:

1. (A) and (D) only

2. (A), (C) and (D) only
3. (B), (C) and (D) only
4. (A), (B} and (C) only

Options :

2268952727834. 1
2268952727835.2
2268952727836. 3
2268952727837. 4

Question Number : 435 Question Id : 226895703552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
FHTG H W R0 §91C 3 & oL fadre SH1E & Sieil-3ieiT o o | Fafaiad # 9 & wifagef faare gaum
T HRIB G ?
(A) TTY 3R e
(B) YT
(© fafr & orguR g
(D) TRe GRAHT SR STUFRT
e fow T fawedl & @ adt SR

1.%ad (A) 3R (D)

2. %ad (A), (C) 3R (D)
3. %ad (B), (C) 3R (D)
4.%ad (A), (B) 3R (O)

—

Options :

2268952727834. 1
2268952727835.2
2268952727836. 3
2268952727837. 4



Question Number : 436 Question Id : 226895703553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The study of communication by non-verbal means, including posture, mannerism, gestures, facial expressions and
body movements is called

1. Semantics
2. Phonetics
3. Kinesics

4. Linguistics

Options :

2268952727838. 1
2268952727839. 2
2268952727840. 3
2268952727841. 4

Question Number : 436 Question Id : 226895703553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

H=Mfecds AT U HaR &1 9, o 431, S8R, 8/d-41G, 981 & HId AR TRR B g3 A0 8, B8l ofidl 6 -

1, gofale

2. |JHfaTH

3. TR & Y99R &1 9y (PEA14a)
4, UTYITaRE

Options :

2268952727838. 1
2268952727839. 2
2268952727840. 3
2268952727841. 4

Question Number : 437 Question Id : 226895703554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Scheduled Tribes are communities which are included in the Schedule of the Indian Constitution. This has been
mentioned in which article?

1. Article 365
2. Article 343
3. Article 342
4. Article 324

Options :

2268952727842. 1
2268952727843.2
2268952727844.3
2268952727845. 4

Question Number : 437 Question Id : 226895703554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



YT S d THEA € 9 YR Sy @ ol H i 8| SHe 3woh [y sgwse | a1 T/ 82

1, SIEG 365
2. WG 343
3. WG 342
4. WG 324

Options :

2268952727842. 1
2268952727843.2
2268952727844.3
2268952727845. 4

Question Number : 438 Question Id : 226895703555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following is NOT the criteria for enlisting the Particularly Vulnerable Tribal Groups (PVTGs)?

1. Subsistence level of economy

2. Declining or stagnant population
3. Extremely low level of literacy

4. Habitats in Islands

Options :

2268952727846. 1
2268952727847.2
2268952727848. 3
2268952727849. 4

Question Number : 438 Question Id : 226895703555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Fgfeiad o O &F 91 faRY ¥ 9 U SHWR s 95g! (1. 9. 9. o) &I gdias B3 &1 AHGS T8l o7

1. 3forawy &1 fFale '
2. Jedl a1 fBR S
3. WI&RT &1 HOd HY 'R
4. g0 d FRarg e

Options :

2268952727846. 1
2268952727847.2
2268952727848. 3
2268952727849. 4

Question Number : 439 Question Id : 226895703556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following factor is directly associated with increasing cultural diversity?

1. Ethnocentrism

2. Inbreeding

3. Cultural Relativism
4., Immigration

Options :



2268952727850. 1
2268952727851.2
2268952727852. 3
2268952727853. 4

Question Number : 439 Question Id : 226895703556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Frafafea § € oF O oRe sgdl gRefas ffayar 3 9 9o gan g7

1, Al dsarG

2. UoF

3. Uikpiae WIUEdrars
4. Tyarg

Options :

2268952727850. 1
2268952727851.2
2268952727852.3
2268952727853. 4

Question Number : 440 Question Id : 226895703557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

In terms of size of governance, which of the following is bigger than Band but smaller than State?

1. Country

2. Caste

3. Community
4. Tribe

Options :

2268952727854. 1
2268952727855.2
2268952727856. 3
2268952727857. 4

Question Number : 440 Question Id : 226895703557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

T $ AR & ded & FofofGa g 4o I ds (Go) Y 9318 afd I & Biel 87

1.3
2. 9lfd

3. §He
4, ST

Options :

2268952727854. 1
2268952727855.2
2268952727856. 3
2268952727857 4

Sub-Section Number : 2
Sub-Section Id : 22689529206

Question Shuffling Allowed : No



Question Id : 226895703558 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (441 to 445)

Read the passage carefully and answer the questions based on the passage:
Social Change

Social change refers to changes that have taken place in the structure of a society, including changes in social relationships,
social institutions, social values and social interaction. Cultural changes occur through medifications of the elements and pattern
of a cultural system, and include changes in the traditions, beliefs, religions, norms, values, customs and practices. The important
approaches for studying social-cultural changes are evolutionary, structural, cultural, dialectical and historical. The factors
responsible for social-cultural changes are demographic, technological, cultural, economic, political, legal and ecclogical factors.
Cultural factors influence socio-cultural changes through the exchange of ideas, knowledge and values. One society adopts
cultural traits of another society through war, attack, defeat, or the fulfillment of its right requirements. The geographical
regions and natural resources also influence social change. Social mobility means the movement of people from one social
status to another social status or from one position to another position is considered to be an important factor in changes in
society. Caste mobility is an example of social mobility, which has been influenced by education and constitutional privileges.
Occupational mobility envisages changes in traditional occupation by adopting modern occupation, irrespective of caste
barriers, it helps the caste society develop into new social strata. The different factors that cause social mobility include
Sanskritisation, Westernization, urbanization, industrialization, modernization and globalization. The ‘Sanskritisation’ and
"Westernization’ are the important cultural factors that influence the socio-cultural changes of India.

Sub questions

Question Number : 441 Question 1d : 226895703559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

What is NOT an important approach for studying the social-cultural changes of a society?

1. Evolutionary Approach

2. Dialectical and Historical Approach
3. Structural Approach

4. Mixed-longitudinal Approach

Options :

2268952727858. 1
2268952727859.2
2268952727860. 3
2268952727861. 4

Question Number : 442 Question Id : 226895703560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The envisages changes in traditional occupations by adopting modern occupation, irrespective

of caste barriers, and helping caste society develop into new social-strata.

1. Vertical mobility

2. Horizontal mobility

3. Occupational mobility
4, Traditional mobility

Options :

2268952727862. 1
2268952727863.2
2268952727864. 3
2268952727865. 4



Question Number : 443 Question Id : 226895703561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The movement of people from one social status to another social status or from one position to another position is
considered to be an important factor in changes in society and is called

1. Demographic mobility
2. Social mobility

3. Population migration
4. Socialization

Options :

2268952727866. 1
2268952727867. 2
2268952727868. 3
2268952727869. 4

Question Number : 444 Question Id : 226895703562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which attribute does NOT refer to social changes that have taken place in the structure of a society?

1. Social Relationships
2. Social Institutions
3. Social Interaction
4, Globalization

Options :

2268952727870. 1
2268952727871.2
2268952727872.3
2268952727873. 4

Question Number : 445 Question Id : 226895703563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

A factor that does NOT facilitate social mebility in a society is

1. Geographic isolation
2. Industrialization

3. Modernization

4. Globalization

Options :

2268952727874. 1
2268952727875.2
2268952727876. 3
2268952727877. 4

Question Id : 226895703558 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (441 to 445)
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T icRiiear & o § & arl &1 ve o Ry 9 gadl gmnivie f[Rufa & o1 oo R O ol Rufa o 9 gae |
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Y UHIEd &1 S Tasiiedl SyHe gy & AL JRUNG au™ H giad- &f UREcaH] Sl &, Jid &1 Sl &
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Sub questions

Question Number : 441 Question Id : 226895703559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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2. diidhes SR UfdeTie e
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Options :

2268952727858. 1
2268952727859. 2
2268952727860. 3
2268952727861. 4

Question Number : 442 Question Id : 226895703560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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2. & afafiaar
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Options :

2268952727862. 1
2268952727863.2
2268952727864. 3
2268952727865. 4

Question Number : 443 Question Id : 226895703561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727866. 1
2268952727867. 2
2268952727868. 3
2268952727869. 4

Question Number : 444 Question Id : 226895703562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727870. 1
2268952727871.2
2268952727872 3
2268952727873. 4

Question Number : 445 Question Id : 226895703563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727874. 1
2268952727875.2
2268952727876. 3
2268952727877. 4

Sub-Section Number : 3
Sub-Section Id : 22689529207
Question Shuffling Allowed : No

Question Id : 226895703564 Question Type : COMPREHENSION Sub Question Shuftling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (446 to 450)



Read the passage carefully and answer the questions based on the passage:

Tribal Movements

The Tribal population in India increased over the years and their number is enumerated as 104,281,034 in 2011 census,
constituting 8.6% of the total population. The tribal communities in India include major central Indian tribal groups like Bhil,
Gond, Munda, Santhal, Oraon and it also includes smaller Particularly Vulnerable Tribal Groups like Andamanese, Jarwa, Onge,
Shompen. Historically several challenges were posed by encroachments of outsiders (dikus) in the tribal areas. The tribals
agitated not just against British officials but also against all their supporters including the landlords, merchants and
moneylenders and hence all of them were targeted. The one such revolt called Santhal Hul occurred in the regions of present-
day Jharkhand, Odisha and West Bengal against the British as well the Zamindari system from 1855 until 1856 when the
movement was crushed by the British. One of the most well-known revolutions against the pervasive British Rule in the nation
was the early Munda revolt. The Mundas inhabited the Chotanagpur area. This uprising is also known as the Ulgulan
revoit (great commotion) lead by an able and charismatic leader in dharti aaba Birsa Munda. Rampa Rebellion (1922-1924),
which took place in the present-day Andhra Pradesh districts of Vishakhapatnam and East Godavari. Alluri Sitarama Raju was the
leader of the Rampa rebellion. More recent Tribal movements seek to preserve the land rights, culture, and identity of India’s
indigenous people. The Narmada Bachao Andolan and Chipko Movement exemplify the intersection of tribal and environmental
justice, raising awareness of the significance of Jal, Jangal and Jameen.

Sub questions

Question Number : 446 Question Id : 226895703565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Munda Uprising took place in which region?

1. Andhra Pradesh
2. Chotanagpur
3. West Bengal

4, Cdisha

Options :

2268952727878. 1
2268952727879. 2
2268952727880. 3
2268952727881. 4

Question Number : 447 Question Id : 226895703566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following rebellion is also known as Hul?

1. Birsa Movement
2. Munda Uprisisng
3. Santhal rebellians
4. Rampa Rebellian

Options :

2268952727882 1
2268952727883.2
2268952727884. 3
2268952727885. 4

Question Number : 448 Question Id : 226895703567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following is NOT the correct pair?

1. Birsa Munda - Chotanagpur

2. Dharati Aba - Diku

3. Narmada Bachao - Tribal Movement
4. Alluri Sitarama Raju - Godavari

Options :

2268952727886. 1
2268952727887.2
2268952727888. 3
2268952727889. 4

Question Number : 449 Question Id : 226895703568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following belong to Particularly Vulnerable Tribal Group?

1. Bhil

2. Gond
3. Onge
4. Santhal

Options :

2268952727890. 1
2268952727891.2
2268952727892. 3
2268952727893. 4

Question Number : 450 Question Id : 226895703569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which of the following statement is NOT correct about Indian Tribes?

1. Tribal Population increased to 8.6% of Indian population

2. Diku supported the tribal leader Birsa Munda in Ulgulan

3. Chipko movement was fought to protect Jal Jangal Jameen
4. Rampa rebellian is famous tribal movement from South India

Options :

2268952727894. 1
2268952727895.2
2268952727896. 3
2268952727897. 4

Question Id : 226895703564 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (446 to 450)
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Sub questions

Question Number : 446 Question Id : 226895703565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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4. 3fifs=m

Options :

2268952727878. 1
2268952727879. 2
2268952727880. 3
2268952727881. 4

Question Number : 447 Question Id : 226895703566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952727882. 1
2268952727883. 2
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2268952727885. 4

Question Number : 448 Question Id : 226895703567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :
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Question Number : 449 Question Id : 226895703568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5§ Wrong Marks : 1
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Options :

2268952727890. 1
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2268952727892. 3
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Question Number : 450 Question Id : 226895703569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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